Q
ASamb _ Tamb _ -SSYS
amb amb




sts = Qamb
Tamb Ta’mb Qamb = mC(Ta:nb - amb)

T =T _ +Q, . /mc

amb

ds,,, =mcdT /T
ASamb - j':amb mCdT / T - mCln(Ta:nb / Tamb)

=mcIn[1+ (Qamb [ mcT,,,)I
In[1+(@Q_ /mcT,)I=Q /mcT,,




0Q, =dU + pdV AS  =AS
~0Q, dU .\ pdV  nC, dT .\ nRdV

dS
T T T T V
s ™
S _ nC, .dT N nRdV
5 T V.

T V
AS=nC, In—%+nRIn—=
’ T V

s {,?i&t‘ﬁf%": S A, =

i S e e T



T V
AS = nCV’mlnT—2+ NRIn—=

1 1

\Qz psz
V p,T

1 1

T, T,
AS =nC, ]nT_+ NR In 22 PiT, = =nC, , In->+nRIn-*+nRIn— P —n(CVm+R)lnT—+ann P
1 pzT1 Tl Tl pz T1 P,
T,
AS =nC _In—2-nRIn—2 By
T P,
lL_Wm
Tl Vl pl
AS=nC_ In VaPy —nRIn—% P, _nCpmln\Q+nCpmln&—ann&
’ Vl pl pl ’ V1 ’ pl pl

AS —nC n\L+ nClen
V

Py




V
AS=nClenL+ann\i AS =nC mlnL—ann& AS:nCpmln—2+nClen&
T \4 " T, P TV ’ Py
V
- AS=ann—2=—ann&
Vl pl
[ )

AS =nC, . ln%




0. 5mol ) N,(g) (W ABAESE,Cv.n=2.5R),H 27 °C.
10dm® 2B FELEE V,=1dm®, B4 B RELRSERR
BREZHE, REMTTEN Q. W, AU. AH, AS,

T,=300K

[ 7,300k 7
V;=10dm* U=0, H,=0 |V,=1dm’ 5,=0,Q,=0 | V,=10dm’
Q=- W,

B T, Vi 5 T,/K 10 _
AS;=nCy.aln 72 +nRIn 2 =0 2 Rln ZLE+RIn =0 T,=119K
AS =AS,+AS, —AS,=nRln {2 =0.5%8. 314ln -=1/K = —9.57] - K™
MU =nCy,n(T3—T1)=0.5X - X 8. 314(119— 300)] = —1881]

AH =nC,. (Ts—T,)=0. 5X - X8. 314(119—300)] = —2633]

Q=Q,+Q,=Q,=nRT\In $=o. 5 8. 314 X 300In 1_16J = —2872]

1

W=AU—Q=991]



Smol S=? Smol
>
298K 10 p° 298K 1 p®
1 2 3 1p©
1)
AS | = NRIn->L = (5x8.314In10)J - K" = 95.72J - K
P
Q ,=AS T=-0Q,
AS 1:Q 8 ~=-95.72J - K™
T T

AS ,=AS +AS =0




Smol S=? Smol
>
298K 10 p° 298K 1p°
1 2 3 1p°
2) AS ,=AS  =95.72J-K™"




Smol S=? Smol
>
298K 10 p° 298K 1p°
1 2 3 1p®
) AS 3=AS 1=95.72J K™
U=0
NRT _ NRT

Q,=-W=p AV=p (
P, P
_{105(5x8.314x298_5><8.314><298

10° 10x10°

):|J =11.14 kJ

Q 3:-Q 3 AS 3= =—?=—37.41J°K_1




lmol. 298K. 1013.25kPa ¥ 8 | & (Cy,. = 20.79
Jemol™ « K1), A 348K Byfa B, 7E 506. 625kPa {EESFETF
MAESIRESE. K AS. ASGH).ASUR) .

-
AS = nCpmln—z—ann&
T

1 P
.
[ 1%(20.79+ 8.314)In 23 _ 14 8.3141n 200-025

298 1013.25

AU =nC, . (T,-T,) =[1x20.79(348 — 298)] J =1039.5J

J-K'1=10.277J - K™

nRT, aRT, }
2 f 23\

1X8.314X 348 1X8. 314X 298
506. 625 1013. 25

Q=AU —~W=1(1039. 54+ 1654. 5)]=2694]
AS(FF)=—Q/T () =—2694] /348K '=—7.741J » K™*
AS(FB)=AS+AS(FF)=(10.277—7.741)] - K™'=2.536] « K™'>>0
BERALAS () >0 R

W=—;J(5‘F)(V2—V1)=—p(ﬁ:)(

] :IJ =—1654. 5]

. [— 506. 625




(2)

0Q,=dH =nC__ dT

,NC_ dT T

_ 2 p,m C ,m _ _2
AS=|"— s |A,S=nC . In

1

0Q, =dU =nC, dT

,NC, dT
AVS — “‘T vom v

LT > AVS_nCV,mlnT—

1

s {,?i&t‘ﬁf%": S A, =

i S e e T




3.7 c,=418J-g7 - K™ 1 kg, 10

1 00 A S Sys A S amb
ASiso
1) 100
(2) 55 100
3) 40 70 100

, mc T 1
AS, . = T—pdT=meln—2= 1000x 4.184xIn 22 | 5 K — 1155 5. K
T T 283.15

1

(1)4s,,, - Qs —MC,(T,-T,) [—1000x 4.184% (373.15— 283.15)
amb — —

T, T 373.15

2

}J-K“ =-1009J-K

AS,, =AS_ +AS,  =(1155-1009)J - K~ =146J-K™'



3.7 c,=418J-g7 - K™ 1 kg, 10
100 AS.. AS

Sys amb
ASiso
1) 100
(2) 55 100
(3) 40 70 100
—mc (T,-T,) -mc (T,-T/
(2) AS.w = ML= 1) MG (L= T) g .k

T,
AS,, =AS_ +AS, =(1155-1078)J- K =77J-K™

2

_mcp(Tz’—Tl) .\ —mcp(Tz"—Tz’) N -mc (T, -T,)

3) AS_ =
() amb -I—zr -I—zn

=-1103J-K™*

2

AS,, =AS_ +AS, =(1155-1103)J- K" =52J- K™



EARN 200 dm’ HAERBEBPHHREH 0T, 100 kPafjAr(g) & 100T #) Cu(s)
500 g RABITFHERY T,p RABH AH,AS, Ar(g) ERTHESKAREFE,
50 Ar(g) R Cu(s) By BE/R & FE 3 2 30 4 20. 786 ] +mol ™' K ™' & 24. 435] ol ™' -K ™

WM IBEREE , Qy=AU=0,KXZERERN T,,
AU(Ar) = J n(Ar)Cy o(Ar)dT = n(Ar)Cy o (Ar){ T, — T1(Ar)}

{Fu-‘]

AU(Cu)=AH = _[ n(Cu)C, o(Cu)dT = n(Cu)C, (Cu) i T, — T{(Cu)l

T, (Cu}

AU (Ar)+ AU (Cu) =0

_ n(Ar)Cy ,(Ar) T (Ar) + n(Cu)C,, ,(Cu) T, (Cu)
RRBEEN T,= n(Ar)Cy (Ar) + H(C-H}Ci,m(CU}

pLV._ 100 kPaXx 200 dm’ ~ 8 806 mol
RT(Ar) 8.315]-mol "*K™!'x273.15K

n{(Cu) = m(Cu)/M(Cu) =500 g/63.546 g*mol ™' =7.868 mol
Cy.m(Ar)=C, .(Ar) ~ R =(20.786 ~8.315)]*mol " '+K 1 =12.471 J*mol *-K™!

_ (8.806X12.471X273.15+7.868 X 24.435X373.15\ ., _
Iy = ( R 806X 12.471+ 7.868 X 24435 ) K =336.79K

n(Ar) =




T, n(Ar)Cy ,,(Ar)dT
T, (An) T

T,
Ti(AI')

AS(AR) = | = n(Ar)Cy . (AD)ln
336.79 o
27315 2> V0 PR
T,
T1(CU)

=8.806 mol X 12.471 J*mol "' *K ™ 'In

T, n(Cu)C, ,(Cu)dT
T, (Cu) T

AS(Cu) = | = #(Cu)C, (Cu)ln

336.79
373.15

=7.868 molxX24.435 J*mol ! K !ln =-19.71 J*K~!

AS =AS(Ar) + AS(Cu)=(23.00-19.71) J-K !=3.29 J-K!
Wit REH AS>SO, BABRATHE,

REEE, IR BT LN Ar(@) BIERBURE 8

_ T _336.79
2= T (A P17 27315

AH =AU +A(pV)=A(pV) =V Ap =V (p, — pl,Ar)
= 200x(123.30—100) J = 4.66 kJ

X 100 kPa=123.30 kPa



3

.
AS =nC,, In-2—nRIn‘2 p
T, Py
vV, V

=
AS=nC,  In—*+nRIn—>

1 1

14 %




3.4.2 , 3mol N,(g) 2mol O,(g)
300K 1dm* N, O,
(l) mixS
(2) ldm?
1 Q 0 3 mol N,(g) |2 mol O,(g)
W 0 u o - 300 K 300 K
T o R 1 dm’ 1 dm’
AS(N,) =ann£ =(3 x 8.314 xlni) J-K°' =17.29 J- K™
v, 1
AS(0,) - nRln 22 =(2 x8.314 xln—z——) J- K™ =11.52 J-K ™!
v, 1

A S=AS(N,) +AS(0,) =28.81 J-K™'

Q 0
2

AS = nRln 22 = (5x8. 314 x1n L
Sy “( ' 2

S

mix

S

iso

0

) JoK™'=-28.81 J- K




343 0 100 kPa 2 mol B 150

100 kPa 5 mol C 100 kPa
W AU AS
2mol B Vg | Smol C V¢ V=Vs+V,
0 100kPa 150 100kPa g 100kPa T,

fR: EEEAR Q=0H=0, R BESANB RREENEY, REXKERE T,.

AH = AHB+ AHC = ?’IBCP.m(B)i T2 - T}_(B)} + ﬂccp‘m(C) i T2 "'" TI(C)} =O

npCpm(B) T1(B) + ncC,.m(C) T, (C) _ (2><2.5><273.15+5><3.5><423.15) .
nBCP.m(B)WL nCCp,m(C) 2X2.5+5%3.5

=389.82 K

T2:

W =AU = ngCy n(B){ T, = T{(B)} + ncCy o (C){ Ty - T;(C) ]
={2%1.5%8.315X(389.82-273.15) +5X2.5%8.315X (389.82 — 423.15)} ]
= —554 ]



343 0 100 kPa 2 mol B 150 100 kPa

S mol C 100 kPa W
AU AS
2mol B Vy | Smol C V¢ V =Vpt+V,
>
0 100kPa 150 100kPa 100kPa T,

RKEGE p,(B)= {ng/(ng+ ne)t p=28.57 kPa.
p,(C)=p~ p,(B)=(100-28.57)kPa=71.43 kPa.

_ T, p2(B) _ T, v
ASB - RBCP m(B)ln T (B) nBRln pl(B) ASB - nBCV,m In TI(B) + nBRanB
= ]2><2.5><8.3151n(g§g‘f§) 2% 8. 3151n(2f0(5)7) IJ--K‘1 =35.62 J-K-!
- Tz . Pz(c)
ASc = ncC,h n(Oln 7= T(C) ncRIn ——F=3 5.(C)
= fsxs.sxs.slsln(igg'fg) —5><8.315ln(7i633) lJ-»K‘1 =2.05 K"

AS=ASg+AS:=(35.62+2.05) J- K !=37.67 J<K!
AREH ASSO, BN B TRE,




APS=APH/T
1mol 273K 101325Pa
6004J-mol !
mo AS = AH _ 6004 J-K'=220J-K
T 2732
2
>

o o0y, S E T+ AE = 4. =3

I Emas S e Ty




#l: 1mol i¥KEE —10 T, 101.325kPaF BB -10CHMK, KEFHFHT

AS. BAl: €, (K) =37.6 Tmel K, €, (m)—'ﬂamgrll , TKEE
[ 4 &IHm[‘?”E 15 Kk, 101.325 lsz_—ﬁl]‘T'l]J mol 1

AJS(263.15 K) = AlS (273.15 K)+ AS, + AS,

_ A~ a] i
T SRR A (263.15 K H,0 (%)
AS =nC, K 1n=L W63 15K ! ( - ) - S
R B Al5(263.15K) =63 13 & T,
101.325 kPa 101.325Pa
{1 < T5.3 % In2> 15} J.K™!
= her Il LY
263. 15 3
= 2.808 J. K1 AH, | ﬂ.S AS, {AH,
T, v f
AS, =nC, . fK|1ln= -
) pan | ) In 77 H,0 () B | H,O (s)
_ 263. 15 4 | 27315k AREEREL L sk | 7
=41 x37.6 x1n J- K AE(27315 K 1
273,15 101.325 kPa T 1101.325 kPa
. a3t
= —1.402 J. Kk

‘ﬁlfm 1 202 5 kT - 92,030 3. K

AS (27315 K| = n
1= > B X 27315

AS(263.15 K) = {—22.039 + 2.808 — 1.402} J- K ! = —20.633 J. K!



3.27 0 5.51

0 8 mol H,O(s) 2 mol

H,0() 5.51 Smol CH/() S mol
C.H (s)

AS
A, H, (CH,)=9.832 kJ-mol”"' A _H_(H,0)=6.004kJ-mol™
C,.(H,0,)=7537J-mol" - K" C_ (CH,s)=122.59J -mol" - K"

A HO B CH,

T, =273.15K T
A A(s) Al
n,(A,1)=2mol, n,(A,s)=8 mol Q=0 . |n,(A,1)=10mol
dp=0 °
T, =278.66K P B(s)
B() B(s) n,(B,s) =10 mol
n,(B,1)=5mol,n, (B,s)=35mol




T, = 273.15K -

A() A(s) A(D)
n,(A,1)=2mol,n, (A,s)=8 mol sz_(:) y n,(A,1) =10 mol

T, = 278.66K b= B(s)

B() B(s) n,(B,s)=10 mol
n,(B,1)=5mol,n (B,s)=5mol

mTAE O, =AH =AH(A)+AH(B)=0 M.
AH(A)=n (A, 9)A, H_(A s)+n (A, l)Cp,m(:L DT -1))
— [8 «6.004x10° +10x 7537(T / K - 2?3.15)} J
AH(B) = - (B, DA, H, (B. )+, (B, $)C,  (B. )T —T,)
— [—5 ©9.832:10° +10x122.59(T /K - 273.66}] I

EAH(A)+AHB)=0, BEBT=27713K, B r=398C,
L, 00C<<3.98C<3551C, Hig2H.



T, =273.15K =

A  A(s) A
n,(A,1)=2mol, n, (A, s)=8 mol (;g:_(()) y n,(A,1)=10 mol

T, = 278.66K - B(s)

B() B(s) n,(B,s) =10 mol
n,(B,1)=5mol, n,(B,s)=5mol

A )AL H (A, S _ T
H itk gg(;k):”l{ ) ;‘_ n )+;;E{1—L DC, (A Dln—.
1 1
(8 6.004x10° 277.13)
e +1047537 =2 |T. K" =186.75T . K,
27315 27315
as@)= B D3H B g ge B gml.
T " T
[ 5.9832.10° 277.
o 83210 10122501 131 - 183177 K-
278.66 278.66 |

= AS(A) + AS(B) =[186.75 + (-183.17)] . K =3.58 J. K



